Opérations avec deux fractions (C)

Nom:

Date:

2,5
9 7
3+1
8 2
7 1
10 4
8 8
11 9
1+5
39
1><3
5 7
11
2 4
2,15
9 " 19
L 15
7 16
2,1
7 2

Calculez chaque résultat.

Note:
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Opérations avec deux fractions (C) Réponses

Nom:

Date: Note:

Calculez chaque résultat.
97 975 T 45 "5 20 20 20 20
3,1 _ 3.4 _ 7 L, 2.1 _ 4 3 _1
8 2 8 8 8 3 2 6 6 6
7 1_14 5 _ 9 L1, _ 1.4 5
10 20 20 20 8 2 8 8 8
8.8_ o W 3l 3
1179 99 775 35
1,5 _ 3,5 _ 8 s 4.3 _ 4416
39 9 9 9 9 4 973 = 27
1.3 _ 3 o 13 _ 4.3 _1
577 35 2 8 8 8 8
i1 _ 2 1 _ 1 VS . )
2 4 4 4 4 474 16
2,15 2,19 38 5 1 10 1 _1
9 ° 19 9715 135 "8 16 16 16 16
115 15 o 1.5 _ 1.9 _ 09
77716 112 479 475 20
2.1 _ 2 2 _ 4 o 12 _7_6 _1
72 771 7 "9 3 9 9 "~ 9
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